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@ V5-V2< 5 © 4-v5>3-+6
© Vo-V2<+5-1

® 6 @ 6,0 ® 0.6
@ 9.6 ®o.06
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@ Vo-V2-V5=-v2<0

S V5-V2< 5

©4-V5-(3-V6)=1-V5+ V6=V6-V5+1>0
~4-V5>3-6

© V5-V2-(V5-1)=-v2+1<0

S VE=-V2<F5-1
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38 -—-n=36>n=2
38-n=25=>n=13
38-n=16 >n =22
38-n=9=n=29
38-n=4=>n=34
8-n=1=>n=37
38-n=0=n=38
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D)—2a -3 @ -2a+3 B® -3

@ 2a-3 ® 2a+3

3<a<0¥9 W a<0°]2a+3>00|th

V(=a)? = /(a+3)> =|-d-la+3]
=-a-(a+3)
=-a—-a-3
=-2a-3
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4<V23<5°0|B& qg=V23-4
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2.0 |1.41

1.41

1.42
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1.43

2,1 11,44

1.45

1.45

1.45

1.46

1.46

2.2 11,48

1.48

1.49

1.49

1.49

1.50

2.3 ]1.51

1.52

1.52

1,52

1,53

1.53

2.4 11.54

1.55

1,55

1,55

1.56

1.56

® 5.93 @ 17.56

@ 7.50

@740

® 6.19

‘ V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




